@® 4.105 @ 2.190 ® 0.437 @ 10 ® 3.005



T 58 ulIste] O el >, < Bl =8 A HROA .

6.2 O 6.19




3.

0] WAL SHAL.

1.59 - 0.42

O Rsg
=%




]

e s e s



2.78 2.35 0.37 3.46

@® 0.37-2.78 - 2.35 - 3.46 ® 0.37-2.35 - 2.78 - 3.46
® 3.46 - 0.37 - 2.35 - 2.78 @ 3.46 - 0.37 - 2.78 - 2.35

® 3.46 - 2.78 - 2.35 - 0.37



—[Jm

20 cm



H7|E HAl ghof &ute 5 He SAtR 2AlQ.

H7]

0.54—>0.010] 54
+0.29—>0.019] 29
0.83<«—0.01°] 83

0.48——>0.010] 48
+0.36—>0.0109]
[@® «—0.01°][3]




BAERD[ |t g2 £E WE SAYR AR TE
29
7

0.47 <@ 0.019] 47
- 0,23 <@ 0,019] 23
0.24 <2 0,010 24

0.73 <2 0,0019]

— 0.361< 0.001°] 361

<3 0.0010]




@® 0.3,0.03 ® 0.3,0.05 ® 0.3,0.09

@ 0.5,0.09 ® 0.5,0.03




10. o HI|E BT, [ [t dge 5 A A

ol A7

4.528 = 4+ +0.5 4 0.02 + 0.008

2654 =] ]+06+[  ]+0004

D 2,05 @ 2,0.05 ® 2,0.005

@ 2,0.55 ® 2,0.055



11.

@ 5.273, 5.288

@ 5.276, 5.288

@ 5.274, 5.288

® 5.277, 5.288

@ 5.275, 5.288






a = cm



o Auks LA FHA0.
gref hare 42 Afe2 A4 Q.

@ (1) 0.01 (2) 0.12,0.12 @ (1) 0.01 (2) 0.13,0.14
@ (1) 0.01 (2) 0.14,0.13 @ (1) 0.1 (2) 0.13,0.13

® (1) 0.1 (2) 0.14,0.13



15. %77} 0.54ke Q] Ao £A7E 0.61kg A W7} AUtk Abate}
ujo] Bl B 9 kg 9lA] AL,

B e kg



16. [ et e 2 uEA 2 A4S 1

[

Ale.

(1) 5.789 + 2.981 =

]
(2) 3.892 +5.002 =] |

D (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
® (1) 8.77 (2) 8.884 @ (1) 8.77 (2) 8.894

® (1) 8.771 (2) 8.894



O 0.58+0.43

@ 0.7+047

@ 0.249 +0.91

® 0.65+ 0.693

@ 0.709 + 0.192



18.

Yol 5o A= 7hFe] FAE Aoy 7.02kg ol s UH. 7P
A7} L146kgol =t H o] 5= R kg %] AL,

B e kg



19. @4 @749 A= 2 kn YU7A?

- ~
4 -

@~~~ W @ @
T=-6.986km---"

a = km

~
~

_.3.59km--_ _4.675km - _




714-[  J-717-[  ]-72-7215

@ 7.145, 7.175 @ 7.15, 7.19 @ 7.155, 7.185

@ 7.16, 7.185 ® 7.16, 7.19



